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Note : Four possible choices A, B, C, 0 to esch question are given. Which choles is correct, il that circle in front of that question
number. Use marker or pento fill the cirches. Cutting or filling bwo or more circles will result In zero mark In that question.
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Define Irrationsl Number. LSRG (i)
Simpllty. (Y =807 LA W)
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If two angles of a triangle are unequal in measure, how will be the lengths of their opposite side?
?q.ﬁ'tﬁfr-ﬁ-f-‘-uu Pl st isms st bs ) @)

Il & line segmeat intersecis the two sides of a iriangle in the same ratio, what will be its relation

to third side?

Define the Ratio between two alike quantities. ,;{/Jﬂa{gyuiuuu?‘jﬂﬂu (lif)
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Verify that trlangle haviog given measures of sides Is right angled?a = 5cm , b = llcem, ¢ = 13¢em
Define Altitude of @ Triangle. AR LRl e (i)

Construct Triangle ABC in which mAB = 3em, mAC = 3.1 cm, m{A = 45" ;ﬁﬁrﬁf& ABC &8 (vii)
Construct Trisngle xyz in which mYZ = 7.6 em,mXY = 6.1em, m {x = 90° Fl by s i)
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) dx” + 12xy + 9y +16x + 2y + 16 -L{;f'#ﬁjbgm[{fyq ()

Use division method to find the Sqiare Root of ﬂu expression.

dx * I2xy + 99" +16x + 24y + 16
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) mAB =4em , mBC = 4.8 em, mAC = 3.6 em -d‘.ptdufﬁc,mnﬁwawfh ABC &% ()
\ .
Construct a triangle ABC in which mAB = 4cm, mBC = 4.8 em,mAC = 3.6 cm

Also draw perpendicular bisectors of its sides.

The bisector of the angles of a triangle are concurrent.
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I Triangles on cqual bases and of equal altitudes are equal in area.
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